


3 .5 .1
122 22 - 3=
476 78




3.

22 AIstel 1R Ul o), 2Rt BA] 248 FohA 0.




S =

nE g 2Ur) =

= AMAH-

L Foe

SRR PR BEERS

oo ghol g g e L2l l8ls0

1=}
L

©) 18ji @ 18

5 7 7
5 ® 17I§ @ 18E ® 17ﬁ



4l

o}, m3s}

A o] Lutdu7t?

il

[e) O HHY o
E/}Z]’CTTE—CX

73



L7} =54yt A=

L o] 28 gt ey 17

1
8

FAHA 2

6.



7.

Pl HollA stuztz o] A2lE 3

& 7}ok Gu7H

2 23 11

2- k 2°° — k
@ 33 m @) ?g m ©) 320 m
@ 4= km ® 5— km

60 60



2107
EH%

AN 9

Ct-

8

2l At Fo1A) 200m B FeHA AgsHAEUh

m JY7t?



AP v BRAE AAEY 45 kgol A&k oA

7P el 57 A AREY 43, kel AT ] A



_ 2 4
10. oW AAZHYe] Ahz e amolZ, AR ELS andY T o] 4

AR EElle 2 em A FSHA L.

B -



¥a] (%)

0|3




12. ohe ANtEe &

.10

g1 2] dol& T3 L.

8

ﬁcm\ -

~

cm




et

)
~ A7 =
51 S

1

g 48

=

ol 24 10 Al K FA]

Holzt

<

4|
P
o
oju
=

o|J
B
on
=
@
"
ol
i}
Lo}
HDL
3
o
of of
o<
m_. %]
<~ i
=T
v =
TN
T
Hr <k






15, olslUAA A 941 32 201 & oplAAN D1, Fol D1, Al

23 39 9
® 4—33L @ @gL ® IEL
@ 1=L ® 1=L



LOT

b eyt

25

7FEAsU. vhEA A

e 3

=
=

2



S Wl % 1.24 & toflof & A& Zxoto] ofH 49

= He F 1.24 £ WHY 8 o] HAsUH. vt=A AltshA 2.






